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Here is a line graph showing the temperature in a garden.
] What was the temperature at
o 5pm.?
AT What was the difference in
7™ temperature between 3 pm.

and 7 pm.?

i When was the temperature

- 4°C?
Estimate the time when the temperature was 0°C.
Estimate the temperature at 6 pm.

This line graph shows the population growth of a town.

Population growth

o ..+ What was the population in 1985?
80 'V’
| i How much did the population
ZZj ,/' grow between 1990 and 2010?
-
w0 -
o il When was the population double
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Match the graph to the activity.

Distance Distance
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Distance

from start

from start
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Time.
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A car travels
at constant
speed on the
motorway.

Acaris
parked

outside a
house.

A car drives to
the end of the
road and
back.





